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ENGLISH

{General) ‘ |
PAPER—IV !
Full Marks : 90 |
Time : 3 Hours |
|

The figures in the margin indicate full marks

Candidates are required to give their answers in their

own words as far as practicable.

Nlustrate the questions wherever necessary. |
!

Section ~ I

1. Answer any two of the following : 2x15

(a) How does Yeats describe old age in ‘An Acre of Grass’?

What does he yearn for at this stage of life ?

{T‘um Over)



(b} ‘Anthem for Doomed Youth’ brings out the grim reality

of the life of the soldiers. — Discuss.

{c} Show, after W.H. Auden, how bureaucracy and
Welfare State ‘ignore the need for a man to be free

and happy' in ‘The Unknown Citizen’,
(d} Bring out the central idea of Tagore’s Where the Mind
is without Fear’?
2, Answer any two of the following : 2x10
(a) Discuss Riders to the Sea as a one act play.
(b) Bring out the Celtic elements in Riders to the Sea.

(c) Bring out the significance of three important ill omens

in the drama Riders to the Sea.

{d) How does Maurya try to prevent Bartley from
undertking his journey to Galway? What compels

Bartley to ignore his mother’s pleas?
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Section — II

Answer any four of the following questions,
|
taking not more than one from each group. ‘
Group — A !
\

3. Imagine that your friend has qualified in a competitive
: \

examination and you are greeting him for his success.
|
Reproduce a dialogue between you and your friend.

10

Or _
|

Write an imaginary dialogue between you and a
shopkeeper from whom you want to buy a readymade
shirt. 10

Group — B
!
4. Write a report on a local fair you visited recently, 10

Or

Draft a review of a film you hawve recently seen. : 10
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Group — C
- ’
5. Write a letter to your friend about the advantages of

internet facilities in today’s world. 10

Or

Write an application to the Officer-in-Charge of the local
police station requesting him to take necessary steps to
solve the problem of traffic jam in the local market area.

10

Group — D

6. Correct the proof of the following passage and copy edit
it. 10
Most of the coal and iron mines are in Bihar, Bengal, the
Central Proviences, Hyderabad and Mysore. Both Coal
and iron are needed for hundreds of different purposes,

and we coulde not get on at all with out them ?
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Group — E

7. (a) Translate into Enghsh 1 10
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(b) Amplify the idea contained in any one of the
following : 10

{ij Time and tide waits for none.
(ii) The idle brain is the devil’'s workshop.

(iiijy A friend in need is a friend indeed.

—
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